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PHYSICS 
 
Q.1 A ball of mass 1g and charge 10–8C moves from

a point A, where potential is 600 volt to the
point B where potential is zero. Velocity of the
ball at the point B is 20 cm/s. The velocity of
the ball at the point A will be -  

 (1) 22.8 cm/s  (2) 228 cm/s   
 (3) 16.8 cm/s  (4) 168 m/s  
 

Q.2  The energy of a charged capacitor resides in  
  (1) The electric field only-   
  (2) The magnetic field only  
  (3) Both the electric and magnetic field 
  (4) Neither in electric  nor magnetic field 
 

Q.3 For following circuit the value of total
resistance between X and Y in ohm is - 

       

R 

RR 

2R 

R 

X Y

 
 (1) R (2) 4 R (3) 5 R (4) 6 R 
 
Q.4 An electron enters a magnetic field along

perpendicular direction. Following quantity will

remain constant -  

 (1) Momentum  (2) Kinetic energy   

 (3) Velocity  (4) Acceleration  

 

PHYSICS 
 
Q.1 1g nzO;eku rFkk 10–8C vkos'k dh ,d xsan dks fcUnq A

ls tgk¡ foHko 600 oksYV gS B fcUnq dh vksj tgk¡ foHko
'kwU; gS xfreku fd;k tkrk gSA fcUnq B ij xsan dk osx
20 cm/s gSA fcUnq A ij xsan dk osx gksxk& 

 (1) 22.8 cm/s  (2) 228 cm/s   
 (3) 16.8 cm/s  (4) 168 m/s  
 

Q.2  ,d vkosf'kr la/kkfj=k dh ÅtkZ fdl :i esa lafpr
gksrh gS& 

  (1) dsoy fo|qr {ks=k  
  (2) dsoy pqEcdh; {ks=k  
  (3) fo|qr rFkk pqEcdh; nksukas {ks=kksa  
  (4) uk rks fo|qr {ks=k vkSj uk gh pqEcdh; {ks=k  
 

Q.3 fuEu ifjiFk esa X o Y ds e/; dqy izfrjks/k dk eku
vkse esa D;k gksxk - 

       

R 

R R

2R 

R

X Y

 
 (1) R (2) 4 R (3) 5 R (4) 6 R 
 

Q.4 ,d bysDVªkWu pqEcdh; {ks=k esa yEcor~ izos'k djrk

gSa] rks dkSulh jkf'k fLFkj jgsxh- 

 (1) laosx  (2) xfrt ÅtkZ 

 (3) osx  (4) Roj.k 
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Q.5  The points A and B are situated perpendicular to
the axis of 2 cm long bar magnet at large
distances x and 3 x from the centre on opposite
sides. The ratio of magnetic fields at A and B
will be approximately equal to - 

  (1) 27 : 1     (2) 1 : 27     
  (3) 9 : 1     (4) 1 : 9  
 

Q.6  The coefficient of mutual induction between
two closely lying coils does not depend upon- 

  (1) Their mutual orientation    
  (2) The permeability of their core material  
  (3) Their structure     
  (4) The current flowing in them  
 

Q.7  In a series resonant L–C–R circuit, if L is
increased by 25% and C is decreased by 20%,
then the resonant frequency will – 

  (1) Increase by 10%  (2) Decrease by 10% 

 (3) Remain unchanged (4) Increase by 2.5% 
 

Q.8 What is the power of a diverging lens of focal
length 40 cm ? 

 (1) 2.5 dioptre (2) 4.0 dioptre  

 (3) – 3.5 dioptre (4)  – 2.5 dioptre 
 

Q.9 In the phenomenon of interference, energy is  
 (1) Destroyed at bright fringes 
 (2) Created at dark fringes 
 (3) Conserved, but it is redistributed 
 (4) Same at all points 
 

Q.5  ,d 2 lseh yEch n.M pqEcd dh v{k ds yEcor 
mlds dsUnz ls foijhr vksj vf/kd nwjh;ksa x o 3 x 
ij fcUnq A o B fLFkr gSA A o B ij pqEcdh; {ks=kksa 
dk vuqikr yxHkx cjkcj gksxk & 

  (1) 27 : 1     (2) 1 : 27     
  (3) 9 : 1     (4) 1 : 9  
 

Q.6  nks fudV j[kh dq.Mfy;ksa dk vU;ksU; izsj.k xq.kkad 
fuHkZj ugha djrk gS– 

  (1) muds ikjLifjd foU;kl ij  
  (2) muds ØksM ds inkFkZ dh ikjxE;rk ij 
  (3) mudh lajpuk ij     
  (4) muesa izokfgr /kkjk ij 
 

Q.7  L–C–R Js.kh vuqukn ifjiFk esa ;fn L dk eku 

25% c<+k;k tk;s o C dk eku 20% ?kVk;k tk;s rks 

vuquknh vko `fr  – 

  (1) 10% c<+ tk,xh   (2) 10% ?kV tk,xh 

  (3) vifjofrZr jgsxh (4) 2.5% c<+ tk;sxh 
 

Q.8 40 cm Qksdl nwjh okys vilkjh ySal dh 'kfDr D;k 

gksxh ? 

 (1) 2.5 Mk;IVj (2) 4.0 Mk;IVj  

 (3) – 3.5 Mk;IVj (4)  – 2.5 Mk;IVj 
 

Q.9 O;frdj.k dh izfØ;k esa ÅtkZ&  
 (1) nhIr fÝUtkas ij u"V gksrh gS 

 (2) vnhIr fÝUtks ij mRiUu gksrh gS 
 (3) lajf{kr jgrh gS ijUrq mldk iqufoZrj.k gks tkrk gS

 (4) lHkh fcUnqvksa ij leku gksrh gS 
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Q.10 As per Bohr model, the minimum energy (in eV)
required to remove an electron from the ground
state of doubly ionized Li atom (Z = 3)-  

 (1) 1.51  (2) 13.6   
 (3) 40.8  (4) 122.4 
 

Q.11 Which of the following cannot be emitted by
radioactive substances during their decay ? 

 (1) Neutrinos (2) Helium nuclei  
 (3) Electrons (4) Protons 
 
Q.12 In a good conductor the energy gap between the

conduction band and the valence band is - 
 (1) Infinite  (2) Wide 
 (3) Narrow  (4) Zero 
 

Q.13 Dapletion layer in p-n junction region is caused
by- 

 (1) drift holes 
 (2) diffusion of free carriers   
  (3) migration of impurity ions 
  (4) drift of electrons  
 

Q.14 The wavelength λe of an electron and λp of a 
photon of same energy E are related by  - 

 (1) λp ∝ 2
eλ   (2) λp ∝ λe  

 (3) λp ∝ eλ  (4) λp ∝ 
e

1
λ

  

 

Q.15 The main source of sun's energy is- 
 (1) nuclear fusion     
 (2) nuclear fission  
 (3) gravitational contraction 
 (4) combustion 

Q.10 cksgj izfr:i ds vuqlkj] f}vk;fur yhfFk;e ijek.kq 

Li++ (Z = 3) esa bysDVªkWu dks lkekU; voLFkk ls 

eqDr djus ds fy;s U;wure ÅtkZ (eV esa) gS & 
 (1) 1.51  (2) 13.6   
 (3) 40.8  (4) 122.4 
 

Q.11 fuEu eas ls dkSulk d.k jsfM;ks lfØ; inkFkZ ds {k; 
ds nkSjku mRl£tr ugha gks ldrk ? 

 (1) U;wfVªuksa  (2) ghfy;e ukfHkd  
 (3) bysDVªkWUk  (4) çksVkWu 
 
Q.12 'kq) pkydksa esa pkyu cS.M vkSj la;ksth cS.M ds e/; 

ÅtkZ vUrjky gksrk gS- 
 (1) vuUr  (2) pkSM+k 
 (3) ladh.kZ   (4) 'kwU; 
 

Q.13 p-n laf/k esa vo{k; ijr cuus dk dkj.k gS – 
  (1) dksVjksa dk viogu 
  (2) eqDr okgdksa dk folj.k   
  (3) v'kqf) vk;uksa dk foLFkkiu 
  (4) bysDVªkWuksa dk viogu 
 

Q.14 ;fn fdlh bysDVªkWu vkSj QksVkWu dh ÅtkZ leku (E) 
gS vkSj mudh rjaxnS/;Z Øe'k% λe rFkk λp gksa] rks buds 
chp lEca/k gksxk % 

 (1) λp ∝ 2
eλ   (2) λp ∝ λe  

 (3) λp ∝ eλ  (4) λp ∝ 
e

1
λ

  

 

Q.15 lw;Z dh ÅtkZ dk eq[; L=kksr gS - 
 (1) ukfHkdh; lay;u  
 (2) ukfHkdh; fo[k.Mu 
 (3) xq:Roh; f[kapko  
 (4) Toyu 
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CHEMISTRY 
Q.16 Two liquids A and B make an ideal solution.

What is vapour pressure of the solution having
the molar ratio of A : B as 3 : 1 ?  

 [Given : o
Ap  = 24 torr, o

Bp  = 40 torr ] 
 (1) 28 torr   (2) 32 torr 
  (3) 36 torr  (4) 64 torr  
 
Q.17 Hybridisation and shape of −

4ICl  ion is-  
 (1) sp3d, square planar  (2) sp3d2, pyramidal 
  (3) sp3d2, octahedral  (4) sp3d2, square planar   
 
Q.18 Aluminium oxide may be electrolysed at 1000ºC

to furnish aluminium metal (At. Mass = 27 amu;
1 Farady = 96,500 coulombs.) The cathode 
reaction is Al3+ + 3e– → Al. To prepare 5.12 kg
of aluminium metal by this method would
require-  

 (1) 5.49 × 104 C of electricity  
 (2) 5.49 × 101 C of electricity    
 (3) 5.49 × 107 C of electricity   
 (4) 1.83 × 107 C of electricity  
 

Q.19 For a reaction  

  4KClO3 → 3KClO4 + KCl 

 If  
dt

]KClO[d 3−  = k1 [KClO3]4 

  
dt

]KClO[d 4  = k2 [KClO3]4 

  
dt

]KCl[d  = k3[KClO3]4 

 The correct relation between k1,k2 and k3 is- 

 (1) k1 = k2 = k3 (2) 4k1 = 3k2 = 2k3 

  (3) 3k1 = 4k2 = 12k3 (4) k1 = 4k2 =3k3  

CHEMISTRY 
Q.16 nks nzo A rFkk B ,d vkn'kZ foy;u cukrs gSA foy;u 

dk ok"i nkc D;k gS] tc foy;u esa A : B dk eksyj 
vuqikr 3 : 1 gS ?  

 [fn;k gS : o
Ap  = 24 VkWj, o

Bp  = 40 VkWj] 
 (1) 28 VkWj   (2) 32 VkWj 
  (3) 36 VkWj  (4) 64 VkWj  
 

Q.17 −
4ICl vk;u dk ladj.k rFkk vkd`fr gS-  

 (1) sp3d, oxkZdkj lery (2) sp3d2, fijkfeMy 
  (3) sp3d2, v"BQydh;  (4) sp3d2, oxkZdkj lery 
 

Q.18 1000ºC ij ,Y;qfefu;e vkWDlkbM oS|qr vi?kfVr 

gksdj ,Y;qfefu;e /kkrq (ijek.kq nzO;eku = 27 amu; 1 
QSjkMs = 96,500 dwykWe) nsrk gSA dSFkksM+ vfHkfØ;k]

Al3+ + 3e– → Al gSA bl fof/k }kjk 5.12 kg 
,Y;qfefu;e /kkrq dks fufeZr djus ds fy, vko';d gS& 

 (1) 5.49 × 104 C fo|qr /kkjk 
 (2) 5.49 × 101 C fo|qr /kkjk 
 (3) 5.49 × 107 C fo|qr /kkjk 
 (4) 1.83 × 107 C fo|qr /kkjk 
 

Q.19 vfHkfØ;k ds fy, 

  4KClO3 → 3KClO4 + KCl 

 ;fn  
dt

]KClO[d 3−  = k1 [KClO3]4 

  
dt

]KClO[d 4  = k2 [KClO3]4 

  
dt

]KCl[d  = k3[KClO3]4 

 k1,k2 ,oe~ k3 ds e/; lgh lEcU/k gS- 

 (1) k1 = k2 = k3 (2) 4k1 = 3k2 = 2k3 

  (3) 3k1 = 4k2 = 12k3 (4) k1 = 4k2 =3k3  
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Q.20 The sky looks blue due to- 

 (1) Tyndall effect (2) Brownian motion  

  (3) Both (1) and (2) (4) None of  these  
 

Q.21 Identify the reaction that does not take place

during the smelting process of copper extraction. 

 (1) 2Cu2S + 3O2 → 2Cu2O + 2SO2 

  (2) 2FeS + 3O2 → 2FeO + 2SO2 

  (3) Cu2O + FeS → Cu2S + FeO 

 (4) FeO + SiO2 → FeSiO3 

  
Q.22 Which of the following could possibly be a

product of hydrolysis of PCl5 ? 

 (1) H3PO2  (2) H3PO3   

 (3) PCl3  (4) POCl3  
 

Q.23 What are the products obtained when ammonia is
reacted with excess chlorine ?  

 (1) N2 and NCl3 (2) N2 and HCl 
  (3) N2 and NH4Cl (4) NCl3 and HCl  
 

Q.24 Which of the following is coloured compound ? 

 (1) CuF2  (2)  CuI  
 (3) NaCl  (4) MgCl2  
 

Q.25 Which one of the following has a square planar
geometry ?  

 (1) [FeCl4]2– (2) [NiCl4]2– 

  (3) [PtCl4]2– (4) [CoCl4]2–  

 

Q.20 vkdk'k uhyk fn[kkbZ nsus dk dkj.k gS& 
 (1) fV.My izHkko (2) czkmfu;u xeu 
  (3) (1) rFkk (2) nksuksa (4) buesa ls dksbZ ugha 
 

Q.21 og vfHkfØ;k igpkfu;s tks dkWij ds fu"d"kZ.k dh 

izxyu fof/k ds nkSjku ugh gksrh gS&  

 (1) 2Cu2S + 3O2 → 2Cu2O + 2SO2 

  (2) 2FeS + 3O2 → 2FeO + 2SO2 

  (3) Cu2O + FeS → Cu2S + FeO 

 (4) FeO + SiO2 → FeSiO3 

  

Q.22 fuEu esa ls dkSulk mRikn PCl5 ds ty vi?kVu ls 

lEHko gS ? 

 (1) H3PO2  (2) H3PO3   
 (3) PCl3  (4) POCl3  
 

Q.23 fuEu esa ls dkSulk mRikn izkIr gksxk tc veksfu;k dh 

vfHkfØ;k vkf/kD; Dyksjhu ds lkFk djkrs gS 
 (1) N2 rFkk NCl3 (2) N2 rFkk HCl 
  (3) N2 rFkk NH4Cl (4) NCl3 rFkk HCl  
 

Q.24 fuEu esa ls dkSulk jaxhu ;kSfxd gS& 

 (1) CuF2  (2)  CuI  
 (3) NaCl  (4) MgCl2  
 

Q.25 fuEu esa ls dkSulk oxkZdkj lery T;kferh j[krk gS ?  

 (1) [FeCl4]2– (2) [NiCl4]2– 

  (3) [PtCl4]2– (4) [CoCl4]2–  
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Q.26 For detection of sulphur in an organic compound, 

sodium  nitroprusside is added to the Lassaigne's 

filtrate, the ppt. obtained is- 

 (1) Purple colour  (2) Black colour 

  (3) Blood-red colour  (4) White colour   
 

Q.27 Select the most stable carbocation among the 
following.  

 (1) 
 ⊕ 

  

 (2)  ⊕  

 (3)  ⊕   

 (4)  ⊕
  

 

Q.28 In the reaction sequence  

 

 

'X' Cl2 
FeCl3 

'Y' CHO 

CCl3 

H2SO4 

CHCl

CCl3 

Cl, 

 compound 'X' is- 

 (1) Chlorobenzene  

 (2) Benzene 

  (3) Toluene  

 (4) Biphenylmethane  

 

 

Q.26 dkcZfud ;kSfxd esa lYQj dh tk¡p ds fy,] 

ukbVªksizqlkbM dks yslkus fQYVªsV esa feykus ij] izkIr 

vo{ksi gS- 
 (1) cSaxuh jax dk  (2) dkyk jax dk 

  (3) xgjk-yky jax dk (4) 'osr jax dk 
 

Q.27 fuEu eas ls lokZf/kd LFkk;h dkcZ/kuk;u pqfu;s&  

 (1) 
 ⊕ 

  

 (2) ⊕  

 (3)  ⊕   

 (4)  ⊕
  

 

Q.28 vfHkfØ;k vuqØe esa 

 

 

'X' Cl2
FeCl3

'Y' CHO

CCl3

H2SO4 

CHCl

CCl3 

Cl, 

 ;kSfxd 'X' gS- 

 (1) DyksjkscsUthu 

 (2) csUthu 

  (3) VksywbZu   

 (4) ckbZQsfuyesFksu 
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Q.29 The product in the given reaction is- 

 

OD 

 
+ D2SO4 

heat

OD2 → Product 

 (1) 

OD 
D

 (2) 

 OD 
DD

DD
D

   

 (3)
 

OD 

D
 (4) 

 OD 
DD

D

  

 

Q.30 Benzaldehyde on treatment with ethanolic KCN

produces  

 (1) C6H5COCOC6H5  

 (2) C6H5CHOHCN 

  (3) C6H5CHOHCOOH  

 (4) C6H5CHOHCOC6H5  
  

 

MATHEMATICS 

Q.31 If function f(x) =




∉
∈

Qx,0
Qx,1

, then the value of

(fof) ( 4 ) will be - 

 (1) 0  (2) 2 

 (3) 1  (4) None of these 

 

Q.29 nh x;h vfHkfØ;k esa mRikn gS& 

 

OD

 
+ D2SO4 

heat

OD2 →  mRikn  

 (1) 

OD
D

 (2) 

 OD 
DD

DD
D

   

 (3)
 

OD

D
 (4) 

 OD 
DD

D

  

Q.30 csUtsfYMgkbM dks ,sFksukWfyd KCN ds lkFk mipkfjr 

djus ij mRiUu djrk gS& 

 (1) C6H5COCOC6H5  

 (2) C6H5CHOHCN 

  (3) C6H5CHOHCOOH  

 (4) C6H5CHOHCOC6H5  
 

MATHEMATICS 

Q.31 ;fn Qyu f(x) =




∉
∈

Qx,0
Qx,1

 gS] rc (fof) ( 4 ) dk 

eku gksxk- 

 (1) 0  (2) 2 

 (3) 1  (4) buesa ls dksbZ ugha 
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Q.32 Which of the following function is not
continuous in the interval (0, π)  

 (1) x sin 
x
1   

 (2) 










π<<
π









π
≤<

x
4

3,
9
x2sin2

4
3x0,1

 

 (3) tan x  

 (4) None of these 
 
Q.33 The angle of intersection between curves y = x3

and 6y = 7 – x2 at point (1, 1) is - 
 (1) π/4  (2) π/3  
 (3) π/2  (4) None of these 
 
Q.34 The interval in which the function f(x) = xe4 – x

decreases is - 
 (1) (–∞, 1)  (2) (1, ∞)   
 (3) (0, 4)  (4) None of these 
 

Q.35 ∫
1

0
sin–1 x dx = 

 (1) 
2
π  + 1   (2) 

2
π  – 1  

 (3) π – 1  (4) None of these 
 

Q.36 The value of  
0bcac

cb0ab
caba0

−−
−−
−−

 is - 

 (1) 0 
 (2) abc 
 (3) (a – b) (b – c) (c – a) 
 (4) None of these 
 

Q.32 fuEu esa ls dkSulk Qyu] vUrjky (0, π) esa larr~ 

ugha gS - 

 (1) x sin 
x
1  

 (2) 










π<<
π









π
≤<

x
4

3,
9
x2sin2

4
3x0,1

 

 (3) tan x 

 (4) buesa ls dksbZ ugha 
 

Q.33 oØ y = x3 rFkk 6y = 7 – x2 ds e/;] fcUnq (1, 1) ij 
izfrPNsn dks.k gS - 

 (1) π/4  (2) π/3  
 (3) π/2  (4) buesa ls dksbZ ugh 
 
Q.34 og vUrjky ftlesa Qyu f(x) = xe4–x Ðkleku gS] 

gksxk - 
 (1) (–∞, 1)  (2) (1, ∞) 
 (3) (0, 4)  (4) buesa ls dksbZ ugh 
 

Q.35 ∫
1

0
sin–1 x dx = 

 (1) 
2
π  + 1   (2) 

2
π  – 1  

 (3) π – 1  (4) buesa ls dksbZ ugha 
 

Q.36 lkjf.kd 
0bcac

cb0ab
caba0

−−
−−
−−

 dk eku gS - 

 (1) 0 
 (2) abc 
 (3) (a – b) (b – c) (c – a) 
 (4) buesa ls dksbZ ugha 
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Q.37 ∫
π

+

2/

0
2/32/3

2/3
dx

xcosxsin
xsin  equals - 

 (1) π/2 (2) π/4 (3) π (4) 2π 
 

Q.38 The solution of the differential equation
(1 + cos x)dy = (1 – cos x)dx is - 

 (1) y = 2 tan 
2
x – x + c  

 (2) y = 2 tan x + x + c 

 (3) y = 2 tan 
2
x + x + c  

 (4) y = x – 2 tan
2
x  + c 

 
 

Q.39 If (– 7 – 24i)1/2 = x  – iy, then x2 + y2 is equal to 

 (1) 25   (2) 25 

 (3) 15  (4) None of these 
 
Q.40 The area of a rectangle of maximum area

inscribed in a circle of radius a is - 
 (1) πa2 (2) a2 (3) 2a2 (4) 2πa2 

 
Q.41 The domain where function f(x) = 2x2 – 1 and 

g(x) = 1 – 3x are equal, is- 
 (1) {1/2}  (2) {2}  
 (3) {1/2, 2}  (4) {1/2, –2} 
 

Q.42 
1x

lim
→ 5x7x2

1x
2 +−

− equals -  

 (1) 1/3  (2) –1/3  
 (3) 1/2  (4) – 1/2 

 

Q.37 ∫
π

+

2/

0
2/32/3

2/3
dx

xcosxsin
xsin  cjkcj gS - 

 (1) π/2 (2) π/4 (3) π (4) 2π 
 

Q.38 vody lehdj.k (1 + cos x)dy = (1 – cos x)dx 
dk gy gS - 

 (1) y = 2 tan 
2
x – x + c  

 (2) y = 2 tan x + x + c 

 (3) y = 2 tan 
2
x + x + c  

 (4) y = x – 2 tan
2
x  + c 

 

Q.39 ;fn (– 7 – 24i)1/2 = x  – iy, rks x2 + y2 cjkcj gS - 

 (1) 25   (2) 25 

 (3) 15  (4) buesa ls dksbZ ugha 
 

Q.40 a f=kT;k ds o`Ùk esa vf/kdre {ks=kQy okys vk;r dk 

{ks=kQy gS - 
 (1) πa2 (2) a2 (3) 2a2 (4) 2πa2 

  

Q.41 og izkUr ftlds fy, Qyu f(x) = 2x2 – 1 rFkk 
g(x) = 1 – 3x cjkcj gS] gksxk - 

 (1) {1/2}  (2) {2} 
 (3) {1/2, 2}  (4) {1/2, –2} 
 

Q.42 
1x

lim
→ 5x7x2

1x
2 +−

−
 cjkcj gS - 

 (1) 1/3  (2) –1/3 

 (3) 1/2  (4) – 1/2 
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Q.43 If t = aex / (x – b), then 
t
1 .

dx
dt  equals to - 

 (1) b(x – b)2 (2) – b(x – b)–2   

 (3) b2(x – b) (4) None of these 
 

Q.44 The length of subtangent at any point of the 

curve y = bex/a is - 

 (1) ab   (2) a        

 (3) b           (4) b/a 
 

Q.45 The line joining the points (0, 0, 0) and 

(1, –2, – 5) is divided by plane x – y + z = 1 in 

the ratio - 

 (1) 1 : 1   

 (2) 1 : 2 

 (3) 1 : 3 (external)  

 (4) 3 : 1 (external) 
 

Q.46 For what value of k, the function  

 f(x) = kx2 + 
2

81k2 2 − x – 12 is maximum at  

 x = 9/4  
 (1) 9/2      (2) –9        
 (3) –9/2   (4) 9 
 

Q.47 If ∫
+ 1]x[

]x[
 ƒ(t) dt = [x], then the value of ∫−

4

2
ƒ(x) 

dx is equal to - 

 (1) 1 (2) 2 (3) –2 (4) 3 

 

Q.43 ;fn t = aex / (x – b), rc 
t
1 .

dx
dt  cjkcj gS - 

 (1) b(x – b)2 (2) – b(x – b)–2   

 (3) b2(x – b) (4) buesa ls dksbZ ugha 
 

Q.44 oØ y = bex/a ds fdlh fcUnq ij v/k%Li'khZ dh 

yEckbZ gS - 

 (1) ab   (2) a 

 (3) b           (4) b/a 
 

Q.45 fcUnqvksa (0, 0, 0) rFkk (1, –2, – 5) dks feykus okyh 

js[kk] lery x – y + z = 1 ds }kjk fuEu vuqikr esa 

foHkkftr gksrh gS - 

 (1) 1 : 1   
 (2) 1 : 2 
 (3) 1 : 3 (cká)  

 (4) 3 : 1 (cká) 
 

Q.46 k ds fdl eku ds fy, Qyu 

 f(x) = kx2 + 
2

81k2 2 − x – 12, x = 9/4 ij mfPp"B gS 

 (1) 9/2      (2) –9  

 (3) –9/2   (4) 9 

 

Q.47 ;fn ∫
+ 1]x[

]x[
ƒ(t) dt = [x] gS] rc ∫−

4

2
ƒ(x) dx dk eku 

gS&  

 (1) 1 (2) 2 (3) –2 (4) 3 
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 Q.48 The area between the curve y = tan x and x-axis, 

when – π/4 ≤ x ≤ π/4 is - 

 (1) log 2  (2) log 4   

 (3) log 2   (4) None of these 

 

Q.49 The solution of differential equation  

x
dx
dy + y = y2 is - 

 (1) y = 1 + cxy (2) y = log (cxy)  
 (3) y + 1 = cxy (4) y = c + xy 
 

Q.50 If the end points of AB  are (3, –7) and 

(– 1, – 4), then magnitude of AB is - 

 (1) 2 (2) 3 (3) 4 (4) 5 

 

Q.48 oØ y = tan x rFkk x-v{k, tc – π/4 ≤ x ≤ π/4 ds e/; 

{ks=kQy gS - 

 (1) log 2  (2) log 4   

 (3) log 2   (4) buesa ls dksbZ ugha 
 

Q.49 vody lehdj.k x
dx
dy + y = y2 dk gy gS - 

 (1) y = 1 + cxy (2) y = log (cxy) 

 (3) y + 1 = cxy (4) y = c + xy 

 

Q.50 ;fn AB ds fljs (3, –7) rFkk (–1, – 4) gksa, rks AB dk 

ifjek.k gksxk- 

 (1) 2 (2) 3 (3) 4 (4) 5 

 


